 Practice Quiz 8
(no calculators allowed)

In the following problems you should used the Fourier transform and inverse transform integrals:




Don’t guess, manipulate the integrals!



1) If  , then  will have Fourier transform




a)     b)    c)    d) none of these





2) If  , then   will have Fourier transform



a)     b)    c)    d) none of these





3) If  , then  will have Fourier transform



a)    b)    c)    d) none of these






4) If  , then  for  will have Fourier transform




a)    b)    c)    d)    e) none of these





5) If , then  will have Fourier transform



a)    b)    c)    d) none of these






6) If , then  is




a)    b)    c)   d)    e) none of these





7) If  , then is




a)       b)       c)    d)    e) none of these




8) If, the first nulls (zero points) are at







a)   b)      c)       d)        e) none of these






9) If ,  will be nonzero 






a) for all    b) at all,  an integer  c)     d)  




10) If we have the transfer function


the bandwidth of the system is 

a) 2 Hz   b) 20 Hz   c) 2 rad/sec   d) 20 rad/sec   e) none of thes


 







Answers:    1) c  2) b  3) b  4) c   5) b  6) a  7) b  8) b  9) d  10) c
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